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Q1. In a circle, a chord is equal to length of the radius. The angle subtended by this chord in the
minor arc will be?

T Jod H, T Slidl [Fedm T ofFes & R & FY 99 A 3§ Siar @Rl §dn a2
FIUT glITT?

(a) 60°

(b) 75°

(c) 120°

(d) 150°

Q2. If three points, A, B, C are on a circle with centre O and AOB =90°, £BOC = 120° the measure
of 2ABC will be?

gfe et faeg, A, B, CTh ged W ¢ To¥elehl e 08 3 AOB =90° £BOC = 120°¢ @l 2ABC
T ATT g

(a) 60°

(b) 75°

(c) 98°

(d) 135°

Q3.If tan O + cot 8 = 2, then tan'®® 9 + cot?%% 9 will be?
gfe tan 0 + cot 6 = 2,dT tan!° 6 + cot'%° 9 grarm?
(@)1

(b) V3

(c) 2
(d)o

Q4.1fx>1and x* + xLZ =83, then x3 — x% will be equal to?
2Ti?:TX>13*T\Tx2+xi2=83,<‘-l’f x3 —x—le,EITI'cIT gram?

(a) 756

(b) 760

(c) 764

(d) 750

Q5. If AABC, £A =90° and ADLBC. Here D lies in BC. Accordingly if BC = 8 cm, AC = 6 cm the ar
(AABC) : ar (AACB) will be?

Ife AABC, £A =90° 3R ADLBC &.7dg D, BC W =T §. 58« 38R Il BC=8 A, AC=6
JFY § d ar (AABC) : ar (AACB) B19TT?

(a)16:9
(b) 25:9
(c)4:3
(d)25: 16
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Q6. In AABC, a line drawn parallel to BC intersects AB and AC in point P and Q respectively.
Accordingly if AB = 3PB, what will be PQ : BC?

AABC #, Teh Y@ BC & FATR @ Sirch & S oA g P33R Q& AB 3R AC &t

FIecl §. $H$ 3[AR IS AB = 3PB, PQ: BC fahclal glom?
(a)1:2
(b)2:3
(cJ1:3
(d)3:4

Q7.Ifa+b + c =0, then the value of(a+b+b;rc+c;a) (bic+cia+aib) will be?

aﬁa+b+c=0%a’r(azb+b;’°+°ia)( Lt ) @ A g

b b+c c+a a+b
(a)0
(b) 8
(c)-3
(d)9
Q8. Ifx#0,y#0andz#0 and = + — + — = i+i+i, then the relation among x, y and z will
x2  yz2 ' zZ2  xy  yz @ zx
be?

T x20,y203Rz203RN =+ +2 =1+ -+ & @ xy3R & <g Ty F
x y z xy yz @ zx
g

(Q)x=y=z

(b)x+y+z=0

(c)x+y=2z

@i+142=0
x y z

Q9. If asin 8 + bcos 6 = ¢, the value of acos 6 - bsin 6 will be?
IfT asin 0 + bcos O = ¢, acos 0 - bsin 0 T HATA E’I?IT?

(a) +VaZ — bz + 2

(b) +V—a? + b2 + 2

(c) +VaZ + b2 — c2

(d) £+Va? — b? — c?

Q10. P and Q are two points on a circle with centre ‘O’. There is a point R on the minor arc
between point P and Q. The tangents through point P and Q on the circle intersect in point S.
Accordingly, if 2PSQ = 20°, £PRQ will be equal to?

P3IRQUS god W a fog & feiehr &g ‘0. fog PR Q& ot orgad X foig RE.
ged W &g P33R Q%WW@M?W@TT@T%@SWW&W ¢, 3% AR IS

£PSQ =20° 2PRQ SXI&T B
(a) 80°

(b) 200°

(c) 160°

(d) 100°
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Q11. AABC and ADEF are similar triangles. BC = 3 cm, EF = 4 cm and ar (AABC) = 54 cm?. The
area of ADEF will be?

AABC 31X ADEF THTT ot §. BC = 3 8+, EF = 4 @& 3iX ar (AABC) = 54 &% §. ADEF &l
STHeT gAY

(a) 66 cm?

(b) 78 cm?

(c) 96 cm?

(d) 54 cm?

Q12. The chord AD of a circle C; whose radius is (v3 + 1) cm long touch another circle C, which
is concentric with C;. According, if the radius of C; is (v/3 — 1) cm, the length of AB will be?

T ged C, & Sfar AD foehr Bear (V3 +1) @l el § S 30 god C, I TaL
I & S € & WY Hihfed 8. sHe AR, G C, F Bsar (V3-1) @ § o AB

Fr TFS g
(a) 233 cm
(b) 8v3 cm
(c) 4Y/3 cm
(d) 4V3 cm

Q13. Find the value of a® + b® + ¢* - 3abcifa+b + c = 14 and a® + b? + c* = 60?
gfida+b+c=14anda?+b%+c?=60 § dl a3+b3+c-3abc & AT AT FHifaw?
(a) -112

(b) 108

(c) 56

(d) 72

2
Q14. If the expression x* + x + 1 be written in the form (x + %) + g2, the possible value of q will
be?

aﬁaiaax%xmaﬁ’r(x+§)2+q2,a?mﬁﬁmm%a’rq$rmaﬁamw

Q15.1fx = i/a ++Vaz+ b3+ i/a —+a? + b3, then the value of x3 + 3bx will be?
R x=Va+Va? + 03+ Va—VaZ + b3 & @ x* + 3bx &l HIT g7

(@o

(b)a

(c) 2a

(d1
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1
QL6 It 5=ty
will be?

g m=aw+bw+c3ma,bﬁcqﬁﬁ'&mga’fa+b+c FT AT FT

gram?
(a)o
(b)1

(c) 2
(d)3

= a4 + bV2 + ¢ and a, b and c are rational number, then value ofa + b + ¢

Q17. The value of (1 + cot 6 - cosec 8) (1 + tan 6 + sec 0) will be?
(1 + cot 8 - cosec ) (1 + tan 6 + sec 8) T HTT BIIT?

(a)1

(b) 2

(0
(d)-1

Q18. If xy (x + y) = 1, then the value of !

— x3 — y3 will be?

x3.y3
IR xy (x+y)=1 & ar x;ys—x3 — y3 &l AT grm?
(a)3

(b) -3

(01

(d) -1

Q19. ABCD is a cyclic quadrilateral. AB and DC are produced so as to meet in point P. If ZABC =
70°, 2DAB = 60° then value of ZPBC + 2PCB will be?

ABCD U Tehia wgiw §. AB 3 DC &I 9611 SraT ¢ e & fdg pov fAel. afe zABC =

70°, 2.DAB = 60° & @ £PBC + 2PCB &l HTe gI9T?
(a) 130°
(b) 150°
(c) 155°
(d) 180°

Q20. AB is the chord of a circle with centre O and DOC is a line segment originating from point D
on the circle, such that it intersects AB in point C and BC = OD. If ZBCD = 20° then £AOD will be?

AB T& Jcd @l Sfiar § fodenr dhg 08 3R DOC, ged W g DA sefal dlell Ush @M WS

€, 59 YR dg fdg CW AB®I &lec § 3R BC=0D § I £BCD =20°§ @ £AOD glamm?
(a) 20°
(b) 30°
(c) 40°
(d) 60°

Q21. What will be the 5t term of the series for whicht; =1,t, =2 and t,,, = t, + ty41.7
t1=1,6 =23 tyyy =ty + tpyy. G & AT 537 Te F27 gl

(a) 5
(b) 10
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(c) 6
(d)8

Q22.1fx + i = 99 find the value of ———% 7

2x24102x+2

uﬁx+§=99%a’r&mmm®ﬁm

1 2x%2+102x+2
(a) 51
(b)2

(0=
(d)=

Q23. At what point the graph of 2x + 1 = 0 and 3y - 9 = 0 will intersect each other?

Q23. 9% 2x+1=0 3R 3y-9=0 & &7 & g W I Th g & glasfed HEw
@ (;.-3)
() (~3.-3)

©(-3:3)
(d) None of these

Q24. The side BC of a parallelogram ABCD is produced to the point E. If ZDCE = 65°, find the
value of ZA?

FATAIR g3t ABCD &l 8ol BC 1 fdg E e S Sl 8. e 2DCE = 65° & @l £A &I

AT 3 hifSw?
(a) 115°

(b) 105°

(c) 65°

(d) 85°

Q25. The diagonals of a rhombus intersect in point O. If ZOAB = 30°, find the value of ZOBA?
Teh FAags & fawoT g o W wfasfea g & afd £0AB =30° § d £OBA &I H AT

FIfaw
(a) 90°
(b) 30°
(c) 45°
(d) 60°

Q26. ABCD is a parallelogram and its diagonals AC and BD intersect in point O, such that ZDAC =
32° and £AOB = 70°. What will be the value of ZDBC?

HARAR Tqst ABCD 3R 38 fashoT AC 3R BD &g 0 W $& 56 YR Fred § b 2DAC =

32° 31 2AOB = 70° @idr §. 2«DBC &l ATl 8191 ?
(a) 45°
(b) 38°
(c) 60°
(d) 42°
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Q27. Two circles touch each other externally. Their centres are 7 cm apart. If the radius of one
circle is 4 cm long, the radius of the other circle will be?

al gocd Teh gE HT qed &9 § T Xl 8. 3eToh she 78 &1 gl W &, IE Th Jeod

Sl BT 4 AT ofF e § oY 31T g T Fear greme
(a) 3cm
(b) 4 cm
(c)2cm
(d) 3.5cm

Q28.1If O is the circumcenter of AABC and OD_LBC. then £BOD will be equal to?
If& 0, AABC 3R ODLBC & aRdhg & dF £BOD sTaR g1

(a) 32A

(b) ;4B

(c) 54C

(d) 2A

Q29. The value of 3 (sin x - cos x)* + 6 (sin x + cos x) + 4 (sin®x + cos®x)?
3 (sin x - cos x)* + 6 (sin x + cos x) + 4 (sin’x + cos®x) I AT &7

(a) 11
(b) 12
(c) 13
(d) 14
Q30.1fx* =y +z,y* =z + x, z° = x + y, find the value of— 11X+ 1iy+ 112?
2 _ 2 _ 2 _ 1 1 1

Q30. TG x%=y+7,y?=z2+x,z —X+y,1+x+1_y+1_|_Z HI AT AT hifST?
(a) -1
(b)1
(c) 2
(d) 0
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